Quiz: Write a class called user_type:


The type has a constructor which takes two parameters of the type String


Three access member functions called get_username(), get_first_name(), get_last_name(). All return a String.


In the private portion, there are three data members of type String


username


first_name


last_name


Second part of the assignment expects you to overload the input and output operators.


Typical input operator for a type zzz looks like this





istream& operator>>(istream& in, zzz& a)





For user_type


istream& operator>>(istream& input, user_type& u)


This function should be made a friend of user_type


Typical output operator for a type zzz looks like this


ostream& operator<<(ostream& out, zzz a)


For user_type


ostream& operator<<(ostream& output, user_type u)


This function should also be made a friend of user_type


A small modification to the assignment


Add a default constructor that initializes all data string to empty strings


The input operator will be similar to the main function in the testuser.cpp


Algorithm:


get the username


get the first name


get the last name


See user2.hpp and cpp as well as testuse2.cpp


Output operator will call the three access member functions and print out the values of three fields separated by a space.


Part 3


Class that contains variables of another class


We have already done that for creating user_type. user_type contains three data members of the type String. String is a user-defined type (i.e. class).


A class called database will contain an array of the type user_type of a fixed size. Using a constant called max_size. We have set max_size to be 20.


The database can accomodate 0 to 20 users


To start with the database will have 0 number of users.


So our constructor will initialize the data member number to 0. As the database grows number will keep on increasing.


But our database size can never go beyond 20.


